
Multiply by 0,001 (A)Find each product.
2,7 × 0,001 = 5,035 × 0,001 =
9,7975 × 0,001 = 0,07 × 0,001 =
9,3 × 0,001 = 3,7145 × 0,001 =
3,177 × 0,001 = 9 × 0,001 =
9,1 × 0,001 = 1,0709 × 0,001 =
5,198 × 0,001 = 3,1 × 0,001 =
0,26 × 0,001 = 7,7863 × 0,001 =
5,6713 × 0,001 = 2,82 × 0,001 =
4,037 × 0,001 = 1,7 × 0,001 =
2,917 × 0,001 = 8,88 × 0,001 =
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Multiply by 0,001 (A) AnswersFind each product.
2,7 × 0,001 = 0,0027 5,035 × 0,001 = 0,005035
9,7975 × 0,001 = 0,0097975 0,07 × 0,001 = 0,00007
9,3 × 0,001 = 0,0093 3,7145 × 0,001 = 0,0037145
3,177 × 0,001 = 0,003177 9 × 0,001 = 0,009
9,1 × 0,001 = 0,0091 1,0709 × 0,001 = 0,0010709
5,198 × 0,001 = 0,005198 3,1 × 0,001 = 0,0031
0,26 × 0,001 = 0,00026 7,7863 × 0,001 = 0,0077863
5,6713 × 0,001 = 0,0056713 2,82 × 0,001 = 0,00282
4,037 × 0,001 = 0,004037 1,7 × 0,001 = 0,0017
2,917 × 0,001 = 0,002917 8,88 × 0,001 = 0,00888
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